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MET 330
09/29/2022

MET 330 Homework 1.4

Similarly, to the practice problems last week, chapter 7 and 8 both revolved around using Bernoulli’s
equation and manipulating as needed. The additional layer was having to determine the energy losses due to
friction by calculating Reynold’s number and the friction factor, f. Chapter 10 was a bit of a divergence, with a
focus on calculating the losses without really needing to use Bernoulli’s equation. The overarching takeaway for
this week’s homework was how important solving multiple different types of problems is. The first problem
would take a bit longer, but by the time we got the final problems in each group, it felt almost simple.
Repetition and practice seems to be key for this course.
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